2 Times Table Test 3 Times Table Test

8 |[X |2 |= 8 (X |3 |=
3 | X |2 |= 3 | X|3 |=
/7 | X |2 |= /7 | X |3 |=
1 [X|2 |= 1 |[X|3 |=
12 [ X |2 |= 12 | X |3 |=
6 X |2 |= 6 | X |3 |=
9 [ X |2 |= 9 [ X3 |=
11 [ X |2 |= 11 | X |3 |=
2 | X |2 |= 2 | X |3 |=
10 [ X |2 |= 10 [ X |3 |=
4 X |2 |= 4 X3 |=
5 |[X |2 |= 5 | X |3 |=

Must be carried out with a 2 minute sand timer. Must be carried out with a 2 minute sand timer.



4 Times Table Test 5 Times Table Test

8 X |4 |= 8 |X|D|=
3 [ X|4 = 3 | X |5 |=
/7 X|4 |= /7 | X |5 |=
1 [X|4 = 1 |[X|5 |=
12 | X |4 |= 12 | X |5 |=
6 X |4 |= 6 |[X|D|=
9 X |4 |= 9 X |5 |=
11 | X |4 |= 11 | X |5 |=
2 |[X|4 = 2 | X |5 |=
10 [ X |4 |= 10 | X |5 |=
4 X4 = 4 X |5 |=
5 |[X |4 |= 5 | X |5 |=

Must be carried out with a 2 minute sand timer. Must be carried out with a 2 minute sand timer.



6 Times Table Test 7 Times Table Test

8 |[X |6 |= 8 (X |7 |=
3 [X|6 |= 3 | X|7 |=
/7 | X6 |= /7 |\ X |7 |=
1 [X|6 |= 1 |[X|7 |=
12 | X |6 |= 12 | X |7 |=
6 X |6 |= 6 (X |7 |=
9 X |6 |= 9 (X7 |=
11 [ X |6 |= 11 [ X |7 |=
2 | X |6 |= 2 | X |7 |=
10 [ X |6 |= 10 | X |7 |=
4 [ X6 |= 4 X |7 |=
5 [ X |6 |= 5 | X |7 |=

Must be carried out with a 2 minute sand timer. Must be carried out with a 2 minute sand timer.



8 Times Table Test 9 Times Table Test

8 [ X|8 |= 8 [X|9 |=
3 |[X|8 |= 3 [ X|9 |=
/7 | X |8 |= /7 [ X9 |=
1 |[X|8 |= 1 | X9 |=
12 | X |8 |= 12 [ X |9 |=
6 X |8 |= 6 X |9 |=
9 |[X |8 |= 9 [IX|9 |=
11 [ X |8 |= 11 [ X |9 |=
2 | X |8 |= 2 | X9 |=
10 | X |8 |= 10 [ X |9 |=
4 X |8 |= 4 |[X|9 |=
5 |[X |8 |= 5 |[X1|9 |=

Must be carried out with a 2 minute sand timer. Must be carried out with a 2 minute sand timer.



10 Times Table Test 11 Times Table Test

8 [X|10|= 8 |[X|11|=
3 [ X|10]= 3 [ X|11]=
7 | X|10]|= 7 | X|11]=
1 [ X|10]= 1 [ X |11]=
12 | X |10 |= 12 | X |11 =
6 X |10|= 6 X |11|=
9 |[X]10]= 9 |[X|11|=
11 | X |10 |= 11 [ X |11|=
2 |[X|10|= X |11 |=
10 | X |10 |= 10 | X |11 =
4 (X |10|= 4 [ X|11|=
5 | X [10]= 5 | X |11]=

Must be carried out with a 2 minute sand timer. Must be carried out with a 2 minute sand timer.



12 Times Table Test

8 [X|12]|=
3 [ X|12|=
7 [ X|12]|=
1 [ X|12|=
12 [ X |12 |=
6 [X|12|=
9 [ X|12|=
11 (X |12 |=
2 | X|12|=
10 (X |12 |=
4 |X |12]|=
5 [X|12]=

Must be carried out with a 2 minute sand timer.



